UGC NET 2021 Computer Science N Applications

Topic:- CSAT_SHAAN_NOV21A

1) Which of the statements given below is/are correct?

Itis always important and useful to include an ‘alt attribute on ‘img’ tag in HTML because

A. users who cannot see the image due to vision impairment can have a textual description of the image (which can be spoken aloud by a screenreader).
B. If the image fails to load (slow connection, broken path, etc.) then alt text is displayed instead.

C. SEO (search Engine Optimization) benefits.

Choose the correct answer from the options given below:

[Question ID = 2331][Question Description = $1_qSNz_PG_CMS_Q01]

1. Aonly [Option ID - 9321)

2. Band C only (Option 0 - 9322]

3. C only [Option 1D - 9323]
4. 4,8, and C [Option ID = 9324]

Correct Answer :-
« Aonly [Option ID = 9321]
2) What does the following function () in 'C' return?

int f(unsigned int N) { unsigned int counter = 0; while(N > 0) { counter += N & 1;
1}
[Question ID = 2332][Question Description = $1_qSNz_PG_CMS_Q02]
1. 111 Nis 0dd, otherwise 0 [Option ID = 9325]

N'=N>> 13} return counter

211 Nis a power of 2, otherwise 0 [Option 1D = 9326]
3 Nisall 1, o327)
411 the binary Nhasany 15, 28]

Correct Answer :-
@ 11 Nis odd, otherwise 0 [Option ID = 9325]

3) Consider the following recursive function F() in Java that takes an integer value and returns a string value:
public static String F( int N)

if (N <= 0) return "

Feturn F(N-3) + N+ F(N-2) + N;

1
The value of F(5) is:
[Question ID = 2333][Question Description = $1_qSNz_PG_CMS_Q03]
1. -2:25:3-135 [Option 1D = 9329)
2. 2.25:1-3-135 [Option I

3. -1-145-2-245 [Option 1D = 9331
4 2.25.3:1.135 [Option D = 9332]

Correct Answer :-
« 225.3:135 [Option ID = 9329]

4) Match List 1 with List Il

) it
(Programming Term) (Meaning)
ot  Runtime support for running Java programs
R 1 The APLin support of naming and directory services
0K . The methods provided by the Java development kit and runtime support for calling remote method:
. JRE IV. The compiler and class libraries to develop J: it
Choose the correct answer from the options given below:

334][Question Description = $1_qSNz_PG_CMS_Q04]
€1V, D1 [Option D - 9333)

Correct Answer :-
@ A-Il, 81, C- IV, D -1 [Option 1D = 9333]

5) Match List | with List Il

st 1 st
(Programming Paradigm) ct

. Imperative . Declarative, clausal theorem provin
. Object-oriented I Side-effect free, declarative, expression evaluation|
. Logic Il Imperative, abstract data type

. Functional IV. Command-based, procedural

hoose the correct answer from the options given below:

335][Question Description = $1_qSNz_PG_CMS_Q05]
337)

4 A<1LB-1IL'C1,D -V [Option 1D = 9340]

Correct Answer
@ A-IV,8-1I,C-1,D - [Option 1D = 9337]

6) Suppose you have eight ‘black and white' images taken with a 1-megapixel camera and one '8-color' image taken by an 8-megapixel camera. How much hard disk space in total do you need to store these images on your computer?[Question ID =
1.1 GB [Option 1D = 9341]

2. 4 M8 [Option 1D

3. 318 [Option 10 = 9343]
4. 368 [Option 1D = 9344]

336][Question Description = 1_qSNz_PG_CMS_Q06]

Correct Answer :-
« 168 [Option 1D = 9341]

7) Which of the statements given below are correct?
The midpoint (or Bresenham) algorithm for rasterizing lines is optimized relative to DDA algorithm in that
A. it avolds round-off operations.

B. it s incremental.

C. it uses only integer arithmetic.

0. all straight lines can be displayed as straight (exact).

Choose the correct answer from the options given below:

[Question ID = 2337)[Question Description = $1_qsNz_PG_CMS_Q07]

1. Aand 8 ony [Opton D - 9345]

2. and C only [Option D - 5346

3. 4,8,C, and D [Option ID = 9347]
4. A,8, and C only [Option ID = 9348]

Correct Answer :-
@ 4.and B only [Option ID - 9345]

8) What the transformation matrik M that tansforms a square in the xy-plane defined by
AL LT (1, -0 and @, -1 to  a  parallelogram  whose  corresponding  vertices  are
@17, 0.1, (=2, =1) and (0, - 1)"2

[Question ID = 2338][Question Description = $1_qSNz_PG_CMS_Q08]
e

110
{om]
001

[Option D = 9349)
2 M=

100
[no]
001

[Option I = 9350]
3 M=

111
[010]
001

Correct Answer :-

.n-
110
[om]
001
[Option 0 = 9349]

9) Suppose a Bezier cuve P() is defined by the following four control points in the xy-plane:
Po=(=2,0; Py=(-2,4); P,=(2, 4); and P,= (2, 0). Then which of the following statements are correct?

A Bezier curve P(t) has degree 3.
sp(1)-0.3.

+] A
C. Bezier curve P() may extend outside the convex hull of its control points.

Choose the correct answer from the options given below:

[Question ID = 2339][Question Description = $1_gSNz_PG_CMS_Q09]
1. A and B only [Option 1D

2. Aand C only [Option ID = 9354]
3. B and C only [Option 1D - 9355]
4. 4,8, and C [Option ID = 9356]

Correct Answer :-
‘« Aand B only [Option ID = 9353]

10) Given below are two statements
Statement I: The maximum number of sides that a triangle might have when clipped to a rectangular viewport is 6.
Statement Iz In 3D graphics, the perspective transformation is nonlinear in z.

In light of the above statements, choose the correct answer from the options given below

[Question ID =
1. Both Statement | and Statement I re true. [Option 1D
2. Both Statement | and Statement I ae false [Option ID

3. Statement i true but Statement I s alse [Option 1D = 9359]
4. Statement i fatse but Statement Il s true [Option 1D = 9360]

340][Question Description = $1_qSNz_PG_CMS_Q10]
357]

Correct Answer :-
@ Both Statement | and Statement Il are true. [Option ID = 9357]

1) In software testing, beta testing is the testing performed by .

[Question ID = 2341][Question Description = $1_qsNz_PG_CMS_Q11]
1. potental customers at the developers location [Option 0 - 9361)

2. potential customers at thelr own locations [Option 1D = 9362

3. product developers at the customer ocation [Opton ID - 9363
4. product developrs at their own locations [Option 1D - 9364

Correct Answer :-
« potential customers at the developer’s location [Option ID = 9361]

12) The V components in MVC are responsible for:[Question ID = 2342][Question Description = $1_gSNz_PG_CMS_Q12]
1. User inteface. [Option D = 9365]

2. Security of the system. [Option ID = 9366

3. Business logic and domin objects. [Option ID = 9367]

4 Translatig between user (Option 0 - 9368]

Correct Answer :-
@ User interface. [Option ID = 9365]

13) In software engineering, what kind of notation do formal methods predominantly use?[Question ID = 2343][Question Description = $1_qSNz_PG_CMS_Q13]
1. textual [Option ID = 9369)



4. computer code [Option ID = 9372]

Correct A
o textual [Option I

369]

14) 1 every requirement stated inth Software Requirement specfcation (R5) has only one ion, then SRS is said to be[Question ID = 2344][Question Description = $1_qSNz_PG_CMS_Q14]

1. correct [Option D = 9373]

2 oo (Opion 0.2 374]

3 i Optn - 75
4. verifiable [Option

Correct Answer :-
@ correct [Option I

73]

345][Question Description = $1_qSNz_PG_CMS_Q15]

15) Asystem has 59.59% uptime and has a mean-time-between-falure of 1 day. How fat doesthe system has to repai el n oder toreach this availabilty goalfQuestion 1D

=3

4. ~12 Seconds [Option ID = 9380]

Correct Answer :-
@ -9 Seconds [Option 1D = 9377]

16) In the context of Software Configuration Management (SCM), what kind of files should be committed to your source control repository?

A. Code files
B. Documentation files.

C. Output files

D. Automatically generated files that are required for your system to be used
Choose the correct answer from the options given below:

[Question ID = 2346][Question Description = $1_qSNz_PG_CMS_Q16]

4. Dand A only [Option ID - 9384]

Correct Answer :-
= A and B only [Option ID = 9381]

17) Match List I with List Il

st 1

(Software Process Model) (Decsription)

A. Waterfall Model . Software can be developed incrementally
. Evolutionary Model I. Requirement compromises are inevitable

C. Component-based Software Engineeering . Explicit recognition of ris

pi IV. Inflexible partitioning of the project into stages
oose the correct answer from the aptions gven below:

muesuon o: 1347][Questmn Description = 51_G8Nz_PG_CNS_Q17]
9385)

4 A<IV,8+1,C- 1l D 1 [Option 1D = 9388]

Correct Answer :-
@ A-IV,8-1,C- 1l D - I [Option ID = 9385]

18) Identify the correct order of the following five levels of Capability Maturity Model (from lower to higher) to measure the maturity of an organisation’s software process.
A. Defined

5. Optimizing
C. nitial

D. Managed

E. Repeatable

Choose the correct answer from the options given below

[Queston I - 2348l Queton Descripion = 51455 Q18]

8 [Option D - 9389]
D [Option 0 - e

Correct Answer
& CAE,D, B [Option ID - 9385]

19) Given below are two statements

Statement I: Cleanroom software process model incorporates istical quality certification of code i s as they accumulate into a system.

Statement Iiz Cleanroom software engineering follows the classic analysis, design, code, test, and debug cycle to software development and focussing on defect removal rather than defect prevention.

In light of the above statements, choose the correct answer from the options given below

[Question ID = 2349][Question Description = $1_qsNz_PG_CMS_Q19]
1. Both Statement | and Statement f ae true [Option ID = 9393]
2. oth Statement | and Statement I are aise (Option 1D = 9394]
3. Statement |1 rue but Statement s fise [Option ID = 9395]
. Statement i false but Statement I s true [Option ID = 939]

Correct Answer :
« Both Statement I and Statement Il are tre [Option ID = 9393]

20) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Software developers donot do exhaustive software testing in practice.

Reason R : Even for small inputs, exhaustive testing is too computationally intensive (e.g., takes oo long) to run all the tests.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 2350][Question Description = $1_qSNz_PG_CMS_Q20]

1. Bath A.and R are true and Ris the correct explanation o A [Option 1D = 9357]

2. Both A and R are true but R is NOT the correct explanation of A [Option 1D = 9398]

3. Als true but R false [Option ID = 9399]

4. Al false but R s true [Option ID = 9400

Correct Answer :
@ Both A and R are true and R i the correct explanation of A [Option 1D = 9397)

21) Which of the following are logically equivalent?
A ap = @=nandq = (VD)
B g -randp »(g-7)
Co==C9amdp=r-(g=s)

Choose the correct answer from the options given below:

{Question ID = 2351][Question Description = $1_qsNz_PG_CHS_Q21]

4. A and C only [Option ID = 9404]

Correct Answer :-
« Aonly [Option D = 9401]

22)  Which of these statements about the floor and ceiling functions are correct?

Statement I: [2x] = [x]+ [x +(1/2)] for all real number x

Statement Il: [x +y] = [x1+ [yl for all real numbers x and y

[Question D - 2357 Question Descripton - 1.8z PG.CNS_Q22)
1. Both Statement 1 and Statement I are true [Opion 0 - 405)
2 ot sttement | nd taement I are fte [opton |

3. Statement | true but Statement I s fase [Opion |
& Smamen | e o Stement 1.t {opton 3 - 5408

Correct Ans
@ Both Statement | and Statement Il are true [Option ID = 9405]

23) How many ways are there to assign 5 different jobs to 4 different employees If every employee is assigned at least 1 job?[Question ID = 2353][Question Description = S1_aSNz_PG_CMS_Q23]

1.1024 [Option I = 9409)

4. 20 [Option ID = 9412]

Correct Answer :
1024 [Option ID = 9409]

24) A company stores products in a warehouse. Storage bins in this warehouse are specified by their aisle, location in the aisle, and self. There are 50 aisles, 85 horizontal locations in each aisle, and 5 shelves throughout the warehouse. What is the least number of products the company can have so that at least two products must be stored in the same bin? [Question ID =

2354]]Question Descrption = S1_qsNz_PG_CMS_Q24
251 [option 0 - 413]

2 asiomnn - o

. 51 [op

st w9411

Correct Answer :
251 [Option 10 = 9413]

25) Lot i poron Haing the s ke On G v 3. o 1. Hoe A g G prsan s Ao gt aksQuenion I 2351 Qo Dot = 51655 PG. 4,251

. 21 [Option I
¥ 24 lopin - 5t8)

21 [Option D = 9417]

26) For which value of n is Wheel graph W, regular?[Question ID = 2356][Question Description = $1_qSNz_PG_CMS_Q26]
1. 2 Option 0 = 9421)

2.3 [Option D - 9422)

3. 4 [Option 1D - 94

4. 5 {Option 1D - 9424]

Correct Answer :-
2 [Option 1D = 9421)

27) Which of the following Graphs is(are) planar?

Choose the correct answer from the options given below:

[Question ID = 2357][Question Description = $1_qSNz_PG_CMS_Q27]
1. Aand B only [Option 1D -

2. B and C only [Option 1D = 9426]

3. Aonly [Option ID = 9427]

4. B only [Option ID = 9428]

Correct Answer :-
« AandB only [Option D = 9425]

28) Match List | with List Il



tame
. Identity Law

I Absorption Law
Idempotent law]

hoose the correct answer from the options given below:

[Question ID = 2358][Question Description = S1_gSNz_PG_CMS_Q28]

A<l 81, -1, DIV [Option 1D = 9429]
2. A<1,8-1Il, C- 1V, D I [Option 1D = 9430]
3. A-LBH1,C-1V, D - I [Option 1D = 9431]
4 A-UILBAV, C 1D I [Option 1D = 9432]

Correct Answer :-
@ A-IILB-1, C-11,D - IV [Option ID = 9425]

29) Let (X, *) be a semigroup. Furthermore, for every aand b in X, if a = b, then a*b = b*a.
Based on the defined seimigroup, choose the correct equalities from the options given below:

A. ForeveryainX, a‘a=a
B. Foreverya,binX, a%b*a=a
C. Foreverya, b, cinX, a®h *

atc

[Question ID = 2359][Question Description = $1_qSNz_PG_CMS_Q29]
3. B and C only [Option 1D = 9435]
4. A, B and C [Option ID = 9436]

Correct Answer :-
« A and B only [Option ID = 9433]

30) Consider the following linear optimization problem:
Maximize Z = 6x+5y
Subject to 2x - 3y <= §

x+3y <= 11

axey<=15

and x>=0, y >= 0.

‘The optimal solution of the problem is:
[Question ID = 2360][Question Description = $1_gSNz_PG_CMS_Q30]
1..15 [0ption ID = 9437]
2. 25 [Option ID - 9438]
3. 31.72 [Option 1D = 9439)
4. 41.44 [Option 1D = 9440]

Correct A
@ 15 [Option 1D - 9437]

31) Which of the following languages are not regular?
A L=LO10% | n>k k>0
B.L={c™bka"™* | n>=0,k>=0}

C.L={ 0% | nsk}
Choose the correct answer from the options given below:

[Question ID = 2361][Question Description = $1_qSNz_PG_CMS_Q31]
= oa41]

4. A, Band C [Option 1D = 9444]

Correct Answer :-
« Aand B only [Option ID = 9441]

32)  Any string of terminals that can be generated by the following context free grammar (where S is start nonterminal symbol)

S XY
X 0X]1X|0

Y-vo[vijo

[Question ID = 2362][Question Description = $1_gSNz_PG_CMS_Q32]
1. has at least one 1 [Option ID = 9445]

2. should end with 0 [Option 1D = 9446]

3. has no consecutive 0's or 1's [Option 1D = 9447

4. has at Least two 0's [Option 1D = 9445]

Correct Answer :-
@ has at least one 1 [Option ID = 9445]

33) Let
Li={0M"0" | n>=1, m>=1}
La= {0170 | n>=1, mo=1}

Ly= (070" | n>=1)
Which of the following are correct statements?

ALaslinL,

B. Ly and Ly are context free languages but L s not a context free language

C. Ly and Ly are not context free languages but Ly is a context free language

D. Lyis asubset of Ly

Choose the correct answer from the options given below:

[Question ID = 2363][Question Description = S1_qSNz_PG_CMS_Q33]
. and 8 only [Option ID = 9445]

4. Aonly (Option ID - 9452]

Correct Answer :-
« Aand B only [Option ID - 9449]

34) Given below are two statements.
Statement I: The family of context free languages is closed under homomorphism
Statement II: The family of context free languages is closed under reversal

In light of the above statements, choose the correct answer from the options given below.
[Question ID = 2364][Question Description = S1_gSNz_PG_CMS_Q34]

1. Both Statement | and Statement I are true [Option I0 - 9453)

2. Both Statement | and Statement Il are false [Option D = 9454]

3. Statement i true but Statement I s false [Option ID = 9455]
4. Statement i false but Statement Il s true [Option 1D = 9456]

Correct Answer :-
« Both Statement | and Statement Il are tre [Option ID = 9453]

35) What s number of ired to the finite the transition

4. 6 [Option ID - 9460]

Correct Answer :-
« 3 [Option 1D - 9457)

below?

36) Find the regular expression for the language accepted by the automata given below.




[Question ID = 2366][Question Description = $1_qsNz_PG_CMS_Q36]
1. (aa’(a=b)ab)’ [Option ID = 9461

2. (aubjablabebb 2'(a-bjab) [Option D - 9462)

3. a'ab(abebb 2a'(a+bjab)’ [Option ID - 463

4. a'(a+bjablab+bb-+ aa’(a+bjab)’ [Option ID = 9464]

Correct Answr i+
o (aaasblab) [Option D - 9461)

37) What language is accepted by the pushdown automaton
M= ({a0, ar, a2}, {a, b}, {a, b, 23, 8, q0, 2, {az))
with  8(ao, 3, 3) ={ (a0, 23) J; 8(a0, b, a) ={(do, baj}
5(do, a, b) ={ (do, ab) J; 8(do, b, b) ={ (e, bb) }
8(q0, 2, 2) ={ (a0, a2) i (a0, b, 2) ={ (a0, bz) }
(a0, A, b) ={ (@5, b) J; 8(an, A, 2) = (ar, 3)}
(@ a,3) ={ (@, ) J; 8(as, b, b) =L (@, V) }
S h )= @1
[Question ID = 2367][Question Description = $1_qsNz_PG_CMS_Q37]
1 L= (1 () = now), W {3, by)} (Option 1D - 9465]
2. L={w | nylw) <= np(w), w € {a, b}'}} [Option ID = 9466]

3. L={w | myw) <= nyw), w (&, b [Option 1D = 9467]
4. L= we® | WE 2, b)) [Option ID = 9468]

Correct Answer :-
@ Lo (W I nyw) = na(w), wE (a, B} [Option 1D = 9465]

38)  Match List I with List Il

List1 Listn

Production Rules (Grammar

s xv

-0 I Greibach Normal Form

V-1

b s os bk Il Context  Senstive

(Grammar

cs-ae
AHOALIAL0 11l Chomsky Normal Form
8-0a

b. s aabc

lab - ba

fpc=4Ebeo V. 5- Grammar

be - &b

loB— aal aaa

Choose the correct answer from the options given below:

[Question ID = 2368][Question Description = $1_qSNz_PG_CMS_Q38]
1. A~ B-1, C -1V, D- 1| [Option ID = 5469
2 A<l C1,D - V [Option 1D = 9470]
3 A-lIL BV, C-1,D- 1| [Option D = 9471]
4 A<V, B-0I, C -1, D - (Option 1D = 9472)

Correct Answer :-
@ A-HILB-1, C-1V, DI [Option ID = 9465]

39) Which of the following concepts can be used to identify loops?
A. Depth first ordering

8. Dominators

€. Reducible graphs

Choose the correct answer from the options given belo

[Question ID = 2369][Question Description = $1_qSNz_PG_CMS_Q39]
1 73]
4. A,B and C [Option ID - 9476]

Correct Answer :-
« Aand B only [Option ID = 9473]

40) Given below are two statements
Statement I: LL(1) and LR are examples of Bottom-up parsers.

Statement Iiz Recursive descent parser and SLR are examples of Top-down parsers

In light of the above statements, choose the correct answer from the options given below

[Question ID = 2370][Question Description = $1_qSNz_PG_CMS_Q40]
1. Both Statement 1 and Statement I are true [Option 1D = 9477]

475)
4. Statement i false but Statement Il i true [Option 1D = 9480]
Correct Answer :-

« Both Statement I and Statement Il are true [Option ID = 9477]

41) The postfix form of the expression (A +B) * (C* D - E)*F / G is [Question ID = 2371][Question Description = $1_gSNz_PG_CMS_Q41]
ABYCDYE-FG oas1)

3

AB+CDE"*F*G/ [Option ID - 9484]

Correct Answer :-
@ AB+CD*E-FG/** [Option D - 9481)

a2) A queue (dequeue) ts adding and removing items from both the ends of the queue. The operations supported by dequeue are

item to the rear of the queue), RemoveFront(removing item from the front of the queue), and RemoveRear(removing item from the rear of the queue). You are

given only stacks to implement this data structure. You can implement only push and pop operations. What's the time complexity of performing AddFront() and AddRear() assuming m is the size of the stack and n is the number of elements?[Question ID = 2372][Question Description = $1_qSNz_PG_CMS_Q42]

°
El
s

Correct Answer :-
« O(m) and O(n) [Option 1D = 9485}

43) Two balanced binary trees are given with m and n elements, respectively. They can be merged into a balanced

[Question ID = 2373][Question Description = $1_qSNz_PG_CMS_Q43]
1. O(m"n) [Option ID

2. 0(men) [Option 1D
3. 0(mlog n) (Option ID - 9491)

4. O(mlog(men) [Option D = 9492

Correct Answer :-
 o{mn) [Option 1D = 9485]

ary search tree in ___ time.

44) A data structure is required for storing a set of integers such that each of the following operations can be done in O(log ) time, where n is the number of elements in the set.

 Deletion of the smallest element
« Insertion of an element if it s not already present in the set

Which of the following data structures can be used for this purpose?

[Question ID = 2374][Question Description = $1_qSNz_PG_CMS_Q44]

1
2
3 95
4 Nelther balanced binary search tree nor heap can be used. [Option ID = 94%6]

Correct Answer :-
‘@ Aheap can be used but not a batanced binary search tree. [Option 1D = 9493]

45) Consider the following graph.

G:‘G



‘Among the following sequences

Ioabeghf
I oabfehsg
W abfhge
V.afghbe
Which are depth first traversals of the above graph?

[Question D = 2375Question Description = S1_0SNz_PG._CHS_Q45]

11,1, and 1V only (Opti
vty opion o - 3481
3.1, I, and 1V onty (Opion 0 - 9499]
41,1, and 1V onty [Option 1D =

Correct Answer :-
@ 1,1l and IV only [Option 1D « 9497)

46) Given below are two statements
Statement I: In an undirected graph, number of odd degree vertices is even.

Statement II: In an undirected graph, sum of degrees of all vertices is even.

In light of the above statements, choose the correct answer from the options given below.
[Question ID = 2376][Question Description = $1_qsNz_PG_CMS_Q46]

1. Both Statement | and Statement I are tre. [Option 1D = 9501]

2 Bt Saement nd tement v s, (pton 0= 521

3. Statement i true but Statement I s false. [Option ID = 9503]
& Sevement el ot Sstment 1 s opeon 0 - 33041

Correct Answer :
@ Both Statement I and Statement Il are tue. [Option ID = 9501]

47) Which of the given options provides the increasing order of asymptotic complexity of functions 1, f2, f3 and 47
A i) =20

B.12(n) = n¥?

C.f3n) =nlogn

D. fa(n) = nos"

Choose the correct answer from the options given below

[Question 0 = 13771[Quemon Description = $1_qSNz_PG_CMS_Q47]

opton - 957)
(Option ID = 9508]

Correct Answer
 €,B,D, A[Option ID = 9505)

48) The order of a laf node na 8 tree s the maximum number of (vae, dota record pointer) pairs i can hld. Given that the bock size f 1k byte, daa record pointer s 7 byteslon, the value ield 1+ bytes long and a block ointer i 6 yteslon, what i th order of the leaf nade?{Question 10 = 2378]{Question Descripion = 51_5Nz_7G.CHS. 048]

1. 63 [0p éod
% 4 lops

3 & loenins vsu]
4. 68 [Option I

Correct Answer :-
« 63 (Option I

509]

49) A hash function h defined as h(key)=key mod 7, with linear probing, is used to insert the keys 44, 45, 79, 55, 91, 18, 63 into a table indexed from 0 to 6. What will be the location of key 187

[Question ID = 2379][Question Description = $1_qSNz_PG_CMS_Q49]
1.3 {Option ID = 9513]
2. 4 [Option D = 9514]
3. 5 [Option I = 9515]
4. 6 [Option D - 9516]

Correct Answer :-
« 3 [Option 1D = 9513]

0) In the following table, the left column contains the names of standard graph algorithms and the right column contains the time complexities of the algorithms. Here, n and m are number of vertices and edges, respectively. Match each algorithm with its time complexity.
st

st 1
tandard graph algorithms

.. Bellman-Ford algorithm . O(m*log n)
. Kruskal's algorithm 1. O(n*)
Floytarshll aliorh 1. O(n'm)

V. O(n+m)

hoose the correct answer from the options given below:

Lauestion 0= 1380][Quex(mn Descipton = 51_g5Nz.PG._ChS_Q50]
=9517)

4. A-1B-1,C-11,'D - V [Option 1D = 9520]

Correct Answer
@ A-IIB-1,C-11,D- IV [Option ID = 9517)

51) Mihich agen dealswith the hwnY and unhappy state?[Question ID = 2381][Question Description = $1_qSNz_PG_CMS_Q51]
1

3 Gontbase sgim lopaon 9. 9351
& earning Agen (opton 10 - 524]
Correct Ans

@ Utilty-based agent [0ption ID = 9521]

52) Given below are two statements
Statement I: Breadth-First Search is optimal when all the step costs are equal whereas uniform-cost search is optimal with any step-cost.

Statement Ii: When all more nodes at depth d than the Breadth-First Search.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 2382][Question Description = $1_qSNz_PG_CMS_Q52]
1. Both Statement | and Statement Il are true [Option 1D = 9525]
2. Both Statement | and Statement I ae false [Option ID = 9526]
3. Statement 15 true but Statement I i false [Option ID = 9527]
4. Statement i false but Statement Il s true [Option 1D = 9528]

Correct Answer :-
@ Both Statement | and Statement I are true [Option ID - 9525]

53) Consider the given tree below. Calculate the value at the root of the tree using alpha-beta pruning algorithm.

Max

Min

Max e e °

[Question ID = 2383][Question Description = $1_qsNz_PG_CMS_Q53]
3 [Option ID = 9529)

2. 5 {0pton 10 - 9520]

3. 6 Opton 1D = 9531]

4. 9 {opton 1D - 9532]

Correct Answer
« 3 [Option 1D - 952]

54) Which among the following statement(s) is(are) FALSE?
A. Greedy best-first search is not optimal but is often efficient.

B. A* is complete and optimal provided h(n) is admissible or consistent.

C. Recursive best-first search is efficient in terms of time complexity but poor in terms of space complexity.

0. h(n)

is an admissible heuristic for the 8-puzzle.

[Question D = 2384 Quesion Deserpion = $1_45Ka_PG. CHS_054)

4. Cand D only [Option ID = 9536]

Correct Answer
 Aonly [Option D - 9533]

55) Consider the sentence below.
There is a country that borders both India and Pakistan.
Which of the following logical expressions express the above sentence correctly when the predicate Country(x) represents that x is a country and Borders(x, y) represents that the countries x and y share the border?

Tauestion 0 » 2385 Question Dewcrpton = 51-GSNs_ PG CUS_055]

4. 3 Border (Country(c), India A Pakistan) [Option 1D

Correct Answer
« 3¢ Country(c) A Border (c, India) A Border (c,Pakistan) [Option ID = 9537]

56) Next five questions are based on the following passage.

Consider a domain consisting of three Boolean variables Toothache, Cavity, and Catch. The full joint distribution is a 2x2x2 table as shown in the figure below.

toothache —toothache

catch | —catch | catch | —catch

cavity [ 0.108 | 0.012 | 0.072 | 0.008

Scavity[ 0.016 | 0.064 | 0.144 | 0.576

‘The marginal probability of cavity P(cavity) is -[Question ID = 2386][Question Description = 51_qSNz_PG_CMS_Q56]
1.0.200 (Option ID = 9541
tion

3. 0,120 (Option 1D - 9543]
4 0.080 [Option 1D = 9544)
Correct Answer :-

« 0.200 [option 1D = 9541]

57) The probability of a cavity, given evidence of a toothache, P(cavity | toothache) is [Question ID = 2387][Question Description = $1_qSNz_PG_CMs_Q57]

4. 0.216 (Option ID - 9548]

Correct Answer :-
« 0.400 [Option 1D = 9545]

58) The probability of a toothache, given evidence of a cavity, P(toothache | cavity) is [Question ID = 2388][Question Description = $1_qSNz_PG_CMS_Q58]

955
& ate omion > - o32]

Correct Answer :
« 0.400 [Option 1D = 9545]

59) P(cavity V toothache) is [Question ID = 2389][Question Description = S1_qSNz_PG_CMS_Q59]
10,200 Opton 0 - 9553]
2. 0120 [Option 1D - 9554]



3. 0.280 [Option ID = 9555]
4. 0,600 [Option

Correct Answer :-
« 0.200 [option 1D = 9553]

60) The probability for Cavity, given that either Toothache or Catch is true, P(Cavity | toothache V catch) s [Question ID = 2390][Question Description = $1_qSNz_PG_CMS_Q60]
1.0.6000 [Option 1D = 9557)

2. 05384 [Option ID = 9558]

3 Ssmiotn - 5]

4. 0.4615 [Option ID = 9560

Correct Answer :-
« 0,600 [Option ID = 9557]

61) Which of the DBMS component ensures execution of into a consistent

[Question ID = 2391][Question Description = $1_qSNz_PG_CMS_Q61]

& st rocesing e [option 10« 95641

Correct Answer :
« Logs [Option 1D = 9561]

62) Consider following two statements:
Statement I: Relational database schema represents the logical design of the database.
Statement Il: Current snapshot of a relation only provides the degree of the relation.

In the context to the above statements, choose the correct option from the options given below:
[Question ID = 2392][Question Description = $1_qsNz_PG_CMS_Q62]

1. Statement | TRUE but Statement s FALSE [Option 0 = 9565]

2 Staman 4 FALS St 1 TR o =388

3. Botn Statement | and Statement Il are FALSE [Option ID
& ot vt | nd Savment l e TRUE Dpnon - 35681

Correct Answer :-
« Statement | i TRUE but Statement I is FALSE [Option ID = 9565]

63) Given a fixed-length record file that is ordered on the key field. The file needs B disk blocks to store R number of records. Find the average access time needed to access any record of the given file sing binary search.
[Question ID = 2393][Question Description = $1_qSNz_PG_CMS_Q63]
5
7
[Option 0 = 9569]
2. B+ R [Option 1D - 9570]
3. B [Option ID = 9571]
4 log, B

[Option ID = 9572)

Correct Answer
.z

2

[Option ID = 9569]

64) Given the following STUDENT-COURSE scheme: STUDENT (Rollno, Name, courseno)  COURSE (courseno, coursename, capacity), where Rollno is the primary key of relation STUDENT and courseno is the primary key of relation COURSE. Attribute coursename of COURSE takes unique values only. Which of the following query(ies) will find total number of students enrolled in
‘each course, along with its coursename.

A. SELECT coursename, count(*) total’ from STUDENT natural join COURSE group by coursename;
B. SELECT C.coursename, count(*) total’ from STUDENT S, COURSE C where S.courseno=C.courseno group by coursename;
. SELECT coursename, count(*) 'total’ from COURSE C where courseno in (SELECT courseno from STUDENT);
Laueston 0 = 2394][Queston Descripton = 51_45Nz.PG._CHS Q4]
731

4. B only [Option ID = 9576]

Correct Answer :-
& &and B only [Option ID = 9573]

65) Given the following STUDENT-COURSE scheme: STUDENT (Rolino, Name, Courseno)  COURSE (Courseno, Coursename, Capacity), where Rollno is the primary key of relation STUDENT and Courseno is the primary key of relation COURSE. Attribute Coursename of COURSE  takes unique values only. The number of records in COURSE and STUDENT tables are 3 and 5
respectively. Following relational algebra query is executed: R=STUDENT X COURSE

Match List | with List I in context to the above problem statement.

Y] Tt

- Degree of table R i1

. Cardinaity of table R N
Foreign key of relation STUDENTIII.

. Foreign key of relation COURSE |IV. Coursenof

hoose the correct answer from the options given below:

[Qestion 0 = 2395 Question Desripion = $1_gSNz.PG_CHS Q651
I Opt 77)

.
¥ A-\,Bvlll,(-l‘( n-ll[ov

A v
{otion 2 a4 e same)

ostn 02957
B, C-11, D - IV [Option D = 9580]

Correct Answer
LB, CV, -1l [Option 0 = 9577]

66) Suppose a B tree is used for indexing a database file. Consider the following information:

size of the search key field= 10 bytes, block size = 1024 bytes, size of the record pointer

bytes, size of the block pointer= § bytes.

Let K be the order of internal node and L be the order of leaf node of B" tree, then (K, L)-.

[Question ID = 2396][Question Description = $1_qsNz_PG_CMS_Qe6]
1,057, 53) Option 0 - 9581]
2. (50, 52) (Opton D - 9582)
3. (60, 64)(Opton D - 9583]
4. (34, 31) [Opton 10 9584]

Correct Answer :-
(57, 53) [Option ID = 9581]

67) Given a relation scheme R(x,y,z,w) with functional

=y, 2w All single and only.

A Relation R s in First Normal FORM

8. Relation R is in Second Normal FORM,

C. Primary key of R is xz

Choose the correct answer from the options given below:

[Question ID = 2397][Question Description = $1_qsNz_PG_CMS_Q67]

1. Conly (Option 0 -5

2t cony uton 0 )
56

3. Aand C_only [Option D
4. B only [Option ID - 9585]

Correct Answer
« Conly [Option 1D = 9585]

68) & company is consning parts I the manutscturng of other products. Exchof the i s either. manufactured witin the corpany or urchased from the extemal sugplers o hoth For ach par, partnumber, parname f malntsned. Atribute s maintained if part is in the company. If part is purchased from external
supplier, then supplier name is maintained. Which of the following constraint: ‘when modelling concepts in ERD for the given problem.

{auestion 0 - 2398 Queston Descripton = 1.45Nz.PG_ S st
otal specialzation and overlapping constraints [Option ID = 9589]

2 it comran nty ommon . 3901

3. Partial participation [Option ID = 9591]

4. Partial participation and disjoint constraints (Option 1D = 9592]

Correct Answer :-

69) A transaction may be in one of the following states during its execution life cycle in concurrent execution environment.
A. FAILED

B. TERMINATED

C. PARTIALLY COMMITTED

D. COMMITTED

E. ACTIVE

Given a transaction in active state during ts execution, find its next transitioned state from the options given belo

[Question ID = 2399][Question Description = $1_qsNz_PG_CMS_Q69]
. A only [Option ID = 9593]

2. Either Aor C only (Option D = 95%4]

3. only [Option 10 - 9595]

4.0 only [Option

Correct Answer
4 only [Option 1D - 9593]

70) Which of the following is used to create a database schema?
[Question ID = 14W|[Quemon Description = $1_qSNz_PG_CMS_Q70]
Option

3. HTML [Option ID - 9599]
4. XML [Option ID = 9600]
Correct Answer :-
« oML [0ption D

597)

71) Given memory access time as p nanoseconds and additional q nanoseconds for handling the page fault. What is the effective memory access time if a page fault oceurs once for every 100 instructions?
(aueston 0= 2401 Queston Dscption = S1_G5eF6 .71
1 peL
P* 100
Opton 10 = 9601]
ptq
00
Opton 10 = 9602]
p+a
{option 0 - 9603]
»
L
100 79
{option D - 9604]
Correct Answer i+
T
P 100

[Option ID = 9601)

72) In a file allocation system, the following allocation schemes are used:
A. Contiguous

B. Indexed

C. Linked allocation

Which of the allocation scheme(s) given above will not suffer from external fragmentation? Choose the correct answer from the options given beloy

[Question ID = uoz]lquesmn Description = $1_qSNz_PG_CMS_Q72]

4. € only [Option 1D - 9608]

Correct Answer :-
« Aonly [Option D = 9605]

73) Given below are three statements related to Interrupt handling mechanism
A. Interrupt handler routine is not stored at a fixed address in the memory.
8. CPU hardware has a dedicated wire called the interrupt request line used for handling interrupts
C. Interrupt vector contains the memory addresses for speciaized interrupt handlers.
In the context of above statements, choose the correct answer from the options given below:
[Question ID = 2403][Question Description = $1_qSNz_PG_CMS_Q73]

s TRUE only (Option 0 - 9605]
Both 8 and C re TRUE oty [Optien D = 9610]

Both A and B e TRUE only [Option 1D = 9611]
Both A, C are TRUE only [Option ID = 9612]



Correct Answer :-
A TRUE only [Option ID = 9609]

4) Match List | with List I
st st

ystem calls Description

. fork() . Sends a signal from one process to another proces:
_exec() 1. Indicates termination of the current process
kil Il Loads the specified program in the memory

. exit() IV. Creates a child process

hoose the correct answer from the options given below:

{Queston I = 24041 Queston Descripion = 1G5z, 074

v
3 AW .B-1, C- 1. D 1 option D - 5615)
LAV B e 0D N omion 0+ 616)

Correct Answer :

A8 1,C 1V, D1 [opton D =967
75) Consider the following 3 processes with the length of the CPU burst time given in millseconds:
Process Tarival Time Burst Time
o i B
72 T T 4
) 2 T 5
What is the average waiting time for these processes if they job algorithm?

[Question ID = 2405]{Question Description = $1_qSNz_PG_CMS_Q75]
1.75.5 (Option ID = 9617
2 266 0nton 0 - 610
3. 4.6 [Option ID

3 Clomnp- 30l

Correct Answer :-
« 5.5 [0ption ID = 9617]

Topic:- CSA1_SHAAN_NOV218

1) Read the following and answer the questions:

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame size and page size is same for the given machine.

The number of bits reserved fo th frame offset [Question ID = 2406][Question Description = $1_qSNz_PG_CMS_Q76]
1. 12 [0pu !

2. 14 [Option
5 32 [opin - 3622
4. 8 [Option D = 9624]

Correct Answer :-
« 12 Option I

621]

2) Read the following and answer the questior

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame size and page size is same for the given machine.

Fine d'\""‘befﬂ'wgﬁ qui given virtual add ion 1D = tion Description = $1_gSNz_PG_CMS_Q77]

4. 27 [option D

Correct Answer
« 2% [Option ID - 9625]

3) Read the following and answer the questions:

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame size and page size is same for the given machine.

Wi e the i anbar of i physical D= Description = $1_qSNz_PG_CMS_Q78]
1. 28 [opt 29)
2 mapm m - 9630)
3. 24 [0p 631]
& T Lo - 332

Correct Answer
« 28 [Option ID - 9629)

4) Read the following and answer the questions:

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame size and page size is same for the given machine.

What is the size of page table for handling the given virtual address space, given that each page table entry is of size 2 bytes?

[Question ID = 2409][Question Description = $1_qSNz_PG_CMS_Q79]
1. 2M8 [Option ID - 9633]

4. 12K8 [Option 1D = 9636]

Correct Answer
« 208 [Option 1D « 9631]

5) Read the following and answer the questions:

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame size and page size is same for the given machine.

If a process of size 34K is to be executed on this machine, then what will be the size of internal for this D=

20 (orin - 540

Correct Answer :-
« 48 [Option 10 = 9637]

Description = $1_gSNz_PG_CMS_Q80]

Topic:- CSA1_SHAAN_NOV21C

1) Match List | with List Il

istl st
. 0dd Function . NAND gate

. Universal Gate I. XOR gate

. 2421 code Il Ampli

. Buffer V. Self-C¢

hoose the correct answer from the options given below:

[Question ID 14|||[uuemnn Descrlpnon $1_qSNz_PG_CMS_Q81]
~11,C- 11, D 1V [Option 1]

o omsen oo
3 A-1,B- 1, C- 1, D- IV [Option 1D = 9643]
4 A<IV, 811, C- 1l D - | [Option 10 = 9644]

Correct Answer :-
@ A“1,B-1,C- LD IV [Option ID = 9641]

2) The Octalequivalent of hexadecimal (0.C)s s{Queston ID = 2412]{Queston Description = 1_qSNz_PG_CHS_082]
5]

5 {135 oo R
4. (61.3)s [Option I

Correct Answer :-
 (15.6)s [Option I

645]

3) A digital computer has a common bus system for 8 registers 16 bits each. How many multiplexers are required to implement common bus? What size of multi

[Question ID = 2413][Question Description = $1_qSNz_PG_CMS_Q83]
1. 16, Bx1 [Option ID = 9649]

2.8, 16x1 [Option ID = 9650]

3. 8, 8x1 [Option ID = 9651]

& et toman - 3621

Correct Answer
16, 81 [Option ID = 9649)

iplexers is required?

4) Which of the following is not an example of pseudo-instruction?[Question ID = 2414][Question Description = $1_qSNz_PG_CMS_Q84]
1. ORG [Option I - 9653

2 e loprn

3. END [Option ID =
AT (om0 56561

Correct Answer
« ORG [Option 10 - 9653)

5) The reverse Polish notation of the following infix expression [A*(B+C*(D+E)}] / {F*(G+H)} is. [Question ID = 2415][Question Description = S1_gSN:
1. ABCDE+*+FGH+*/ [Option ID = 9657]

2 45 oponlo -6

3. ABCDE-+++FGH"+/ [Option D

4. ABCDE+**+FGH+*/ [Option ID = %ﬁDl

Correct Answer
« ABCDE+*4*FGH"/ [Option ID - 9657)

2_PG_CMs_Q85]

6) Arrange the following in the increasing order of complexity.
A. 10 Mod

B. 1/0 processor
€. 1/0 Channel

D. DMA

Choose the correct answer from the options given below

[Question ID = 2416][Question Description = $1_qSNz_PG_CMS_Q86]

1.70,C, 8, A[Option ID = 9661]
2. C,0, A, B [Option D - 9662
3. 4,8,C, D [Option D =

4. 4,0,C, 8 Option ID = 9664]

Correct Answer :-
0, B, A[Option ID = 9661)

7) The characteristics of the combinational circuits are:
A. Output at any time is function of inputs at that time
B. Contains memory elements

C. Do not have feedback paths

D. Clock s used to trigger the circuits to obtain outputs

Choose the correct answer from the options given below:

{Question ID = 2417][Question Descr
1. A and B ony [Opton D - 965]
2. Band Conly [Option I = 9666]
3. A and C only [Option D - 5667)
4. B and  only [Option 1D = 96¢8]

ption = $1_qSNz_PG_CMS_Q87]

Correct Answer :-
@ Aand B only [Option ID - 9665]

8) The cache coherence problem can be solved
A. by having multiport memory

B. allow only nonshared data to be stored in cache
C. using a snoopy cache controller

D. uisng memory interleaving

Choose the correct answer from the options given below:

{Question 0 = 241811 Queston Descripton = 1_4SNz_PG_ChS Q36
69)

4. B and D only [Option 1D = 9672]

Correct Answer :-
« Aand C only [Option ID = 9669]

9) Given below are two statements



Statement I: CISC computers have a large of number of addressing modes.
Statement Il In RISC machines memory access is limited to load and store instructions.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 2419][Question Description = $1_qSNz_PG_CMS_Q89]
1. Both Statement 1 and Statement Il are true [Option 1D - 9673]

3. Statement 15 true but Statement 1 fise [Option D -
3 Semement 1 s ok S 1 o [option 13- 676

Correct Answer :-
« Both Statement I and Statement Il are true [Option ID = 9673]

10) Which of the following statement is true?
A. Control memory is part of the hardwired control unit.

8. Program control instructions are used to alter the sequential flow of the program.

C. The register indirect for accessing perand is similar to addressing mode.
D. CPU utilization s not affected by the introduction of Interrupts.

[Question ID = 2420][Question Description = $1_qsNz_PG_CMS_Q90]
A [Option ID = 9677)

2 blowenis 57

3. ¢ [op

]

Correct Answer :
« 4 [0ption ID - 9677]

11) Match List | with List Il

st ist il
ata Link Layer . True end-to-end layer
letwork Layer I Token Management
ransport Layer il Produce billing information

. Session Layer IV. Piggybacking

hoose the correct answer from the options given below:

[Queston 1D = 2421{Question Deseription = $1_gSNz_PG_CHS 091}

1 - 9683)
4 A<V, 8-1,C 1l D - I [Option 1D = 9684]

Correct Answer :-
« A-1V,B- 1, C-1,D - I [Option ID = 9681]

12) Given below are two statements
Statement I:

Telnet, Ftp, Http are application layer protocol

Statement Il

The Iridium project was planned to launch 66 low orbit satelites.

In light of the above statements, choose the correct answer from the options given below
[Question ID = 2422][Question Description = $1_qsNz_PG_CMS_Q92]

1. Both Statement | and Statement l ae true [Option ID - 9685

2. oth Statement | and Statement I are aise (Option 1D = 9686]

3. Statement 1 true but Statement I i false [Option 1D = 9687]
4. Statement i false but Statement Il true [Option 1D = 9688]

Correct Answer :
« Both Statement I and Statement Il are tre [Option ID = 9685]

13) Wiich ofth flloiagsatarent s atsffQetion D = 2423][Queston Desripion = 1.t PG C5_Q92]

1 opton 0360
2. tching. (Option 0 - 9630

3 aches g sendes ndecever e v sy e, ot o i s i g [Opton 1 691

“ [Option ID = 9652)

Correct Answer -

. of (Option 0 - 9689]

14) I Ethoret when Nanchestarcadin s usd, the it ate i [Question ID = 2424][Question Description = $1_qSNz_PG_CMS_Q94]

4. Same as the baud rate [Option ID = 969%]

Correct Answer :-
 Hal the baud rate [Option 1D = 9693]

15) The address of class B host is to be spl
1. 62 subnets and 262142 hosts [Option ID = 9697]

into subnets with 6-bit subnet number. What is the maximum number of the subnets and the maximum number of hosts in each subnet?[Question ID = 2425][Question Description = $1_qSNz_PG_CMS_Q95]

4. 62 subnets and 1022 hosts [Option ID = 9700]

Correct Answer :-
@62 subnets and 262142 hosts [Option ID = 9697]

16) In electronic mail, which of the following protocols allows the transfer of multimedia?[Question ID = 2426][Question Description = $1_qSNz_PG_CMS_Q96]

1. AP [Option 1D = 9701)
2. SATP [Option ID - 5702]
3. POP3 [Option 1D = 9703]

4. MIME [Option ID = 9704]

Correct Answer :-
@ AP [Option D - 9701]

17) A message is encrypted using public key cryptography to send a message from sender to receiver. Which one of the following statements is True?
IQuestion 10 - 2427][Question Descrption - 1.4SMs_PG_CHS.Q07)
Sender encrypts using receiver's public key [Option 0 - 9705
3. Sener ey wing s v il es {0 - 9706
3. Receiver decrypts using sender's public key [Option 0 = 9707]
1 Receher docypts ing s own b ey [Opin 1 - 708

Correct Answer :-
« Sender encrypts using receiver's public key [Option 1D = 9705]

18) Which of the following statements are true?
A. Frequency division multiplexing technique can be handled by digital circuts.
B. Time division multiplexing technique can be handled by analog circuits

. Wavelength division multiplexing technique is used with optical fi ini signals.
0. Frequency division multiplexing technique can be applied when the bandwidth of a link is greater than the bandwidth of the signals to be transmitted.
Choose the correct answer from the options given below:

[Question ID = 2428][Question Description = $1_qsNz_PG_CMS_Q98]

1. B and D only [Option 1D - 9705)

2. Cand D only [Option D = 5710]

3. Aand D only [Option 1D

4. Band D only [Option 0 - 9712)

Correct Answer :
« Band D only [Option ID - 9709]

19) Which of the following statements are true?
A. X.25 is connection-oriented network

B. X.25 doesn’t support switched virtual circuits.

C. Frame relay service provides acknowledgements.

D. Frame relay service provides detection of transmission errors.
Choose the correct answer from the options given below:

[Question ID = 2429][Question Description = $1_qSNz_PG_CMS_Q99]
1. A and D only [Option ID = 5713]
2. B and Donly [Option 1D = 9714]
3. Cand D only [Option ID = 9715]
4. B and C only [Option 1D = 9716]

Correct Answer :-
 Aand D only [Option D - 9713]

20) Let G(x) be the generator polynomial used for CRC checking. The condition that should be satisfied by the G(x) to catch all errors consisting of an odd number of inverted bits is:[Question ID = 2430][Question Description = $1_gSNz_PG_CMS_Q100]
1. (ce1) i factor of Gix) [Option 1D = 971
. (x-1) s factor of G(x) [Option ID = 9718]
: (6241) i factor of G(x) [Option 1D = 971]
(1) s factor of G(x) [Option ID = 9720]

Correct Answer :-
@ (xe1) i factor of Gx) [Option 1D = 9717

Topic:- GP_26NOV_SH2_A

1) Study the given table carefully and answer the questions that follow

The following table has semester fees for four different courses in 5 different years

ears BcA MCA WTech WPl
016 25000 52000 60200 30000
017 26500 53500 61400 32000
018 27200 54200 62500 32600
019 27600 55700 62900 33400
2020 28000 56800 63700 33900
Profafina el @ marmgda af st s dia Re o gl d 3z A
2 e R ¥
mmmm
1710
20192760 mmﬂ
What is the difference between the fees of BCA and of MCA during 2016-2020?
w st s g o dt e e 2 7
{Question ID = 2431][Question Description = 52_qsNz_PG_GP24_Q01]
1. 27200727200 [Option 0 = 9721]
2. 27365727363 [Option 0 = 9727]
3. 27580/27580 [Option 0 - 9723]
4. 27400127400 [Option 0 = 9724]
< .
« 27200127200 [Option 0 = 9721)
2) Study the given table carefully and answer the questions that follow
The has for four in’5 different years
s BCA WCA WTech WPl
B 25000 52000 60200 30000
7 26500 53500 61400 32000
8 27200 54200 62500 32600
9 27600 55700 62900 33400
2020 28000 56800 63700 33900
e a

mmm
mmmm




Botnreo0ssrudezs00ss400
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Which course has highest percentage fee increase from 2019 to 20207

R a3 d 2019 3 ad 2020 e g 3 it v B gt & 2

[Question ID = 2432]{Question Description = 52_qSNz_PG_GP24_Q02]
- bea o e o7}

4. MPhil/ 1 o [Option 1D = 9728]

Correct Answer :-
« BCA 30 & [Option 1D = 9725]

3) Study the given table carefully and answer the questions that follow

has ins
rs BCA WA WTech WPl
6 25000 52000 60200 30000
7 26500 53500 61400 32000
8 27200 54200 62500 32600
9 27600 55700 62900 33400
2020 28000 56800 63700 33900
e e o g :
ot sl 3 R g o R o @l b A e Ry o E
2019276005 m
1202028009 m
Which course has the lowest percentage fee increase from 2017-20187
Rt g A ad 2017 3 ad 2018 b die o 3 e oo ) g 68 & 7
[Question ID = 2433][Question Description = 52_qSNz_PG_GP24_Q03]
1. BCAVd 12 (Option 1D = 9729]
2. MCA/w 8 @ [Option 0 = 9730]
3. Wech/on 2 [Option I
4. MPhil/cn ot [Option 1D = 9732)
Correct Answer i+
« 8CA 12 Option 10 - 9729)
4) Study the given table carefully and answer the questions that follow
The following table has semester fees for four different courses in 5 different years
ars BCA MCA Tech Phil
16 25000 52000 60200 00
17 26500 53500 61400 000
18 27200 54200 62500 600
19 27600 55700 62900 400
2020 28000 56800 63700 33900
Pt sl @ e af o 7 da R e el @ g A :
et a3 R gl uia adl d AR gew Ry o E
Find out the difference between total semester fees (for all courses) of 2018 and 2019.
0 2018 e ad 2019 b 20 argE B e s Aarzes ggew 3 s s e
[Question ID = 2434][Question Description = 2_qSNz_PG_GP24_Q04]
1. 3250/3250 [Option 0 = 9733]
2. 3270/3270 (Option 10 - 734)
3. 315013150 [Option 10 = 9735
4. 3100/3100 [Option 10 = 736]
Correct Answer -
+ 32501325 Opton 1 - 9731
5) Study the given table carefully and answer the questions that follow
The following table has semester fees for four different courses in 5 different years
Years BCA MCA WTech WPl
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900

foeia sl @ ey QR ot S e e T gt @ 3 AR :
e 2o ¥ ar R g @ fre dia adl & A gew B o §

mmmm

Find out the average of difference of fees of MCA and MTech for 2016-2020.

i 2016- e e it

[Question ID = 2435][Question Description = $2_qSNz_PG_GP24_Q05]
1. 7700/7700 [0ption 10 = 9737]
2. 760017600 [Option ID = 9738]
3. 7650/7650 [Option ID = 9739]
4. 7750/7750 [0ption I0 = 9740]

Correct Answer :-
« 7700/7700 [Option 0 - 9737)

Topic:- GP_26NOV_SH2_B

1) The web portal of Swayam Prabha is maintained by

e o @ e o oraReT R 3 21 R e R e 2
[Question ID = 2436][Question Description = 52_qSNz_PG_GP24_Q06]

1. Indian Institute of Technology, Kharagpur /vt et e, e (Option D = 9741]
2. Doordarshan/ gzt [Option 1D = 9742]

3. Google India office/gm s e [Option D = 57431

4 INFLIBNET centre/ssucta e [Option 10 = 9744

Correct A

 ncian Insttute o Technology, Knaragpur/ st bt e, s [Option ID = 9741)

2) The National Repository of Open Educational Resources is managed by

@ a0 st s 3 ) o e

[Question ID = 2437][Question Description = S2_qSNz_PG_GP24_Q07]
1. Incan Insttute of Technology, Delhi /s e s, Rl [Option 1D = 9745}
2 i Ganch tionl Open ety s s s (Option D 746

¥ Educational Technalogy, NC . o1 £ 8 [Option 1D = 9747)

& Uty Granes Conmsis oo ‘g vt [Option 1D = 9748]

Correct Answer
‘ Indian Insttute of Technology, Deli/ora s e, e [Option ID = 9745]

3) Given below are two statements

Statement I: The ability to form and use symbols (words, gestures, signs, images, and so on) are accomplished in the preoperational period.

Statement Iiz According to Piaget, preoperational children do not have a tendency to be egocentric.

In light of the. , choose the most appropri from the options given below

ol A werar v aw E
wern - 1 el (orc, s, i, e ) < o v o 6 g iR et 7 B A &

ere - 11 et o v, e-2iRmes el 3 g O 6 g ol Ak B

s o o gt ¢
[Question ID = 2438][Question Description = S2_qSNz_PG_GP24_Q08]

1. Both Statement | and Statement Il are correct /e | s 1| s 4t  [Option ID = 9749)

2. Bath Statement | and Statement I are incorrect/ e | 1| & 317 2 [Option ID = 9750]

3. Statement | iscorrect but tatement 1 s incorrect et | awa 2 , g wes 1 ot 2 | [Option ID = 9751]
4. Statement | i incorrect but Statement I s correct /it | s 3, g et I 358 & [Option ID = 9752]
Correct Answer :-

« Both Statement | and Statement I re correct /et | i 11 i 1 & [Option D = 9749)

4) SWAYAM platform was developed by
A. MHRD (now Ministry of Education), Government of India.
8. Google

€. Microsoft

0.1, Dethi

E. Adobe Inc.

Choose the correct answer from the options given below:

i cewal o oty ____ e fa s 8

A, e e oz 9 (or g i), st a2
B. gt

C. it

0. ot suf & et

€. vt

i e e e 3 2 2 e g ¢

[Question ID = 2439][Question Description = 52_qSNz_PG_GP24_Q09]



Aand B only/daer A iz B

[Option I - 9753
Conty/itact A s C

[Option ID = 9754]
and D only/c B 3 D

[Option I - 755
D and € onty/aba D st €
[Option I = 9756]
Correct Answer
@ Aand Bonly/ur A B

[Option I = 9753

5) Match List | with List Il

istl st
0C Platform _[Developer

. Coursera Anant Agarwal
Udacity I Salman Khan

L Edx Il Andrew N, Daphne Koller
. Khan Academy{V. Sebastian Thrun
hoose the correct answer from the options given below:

24 -1 3l -l A g e ©

fat -1 e 11
] Pt

. et I, srraen s

& 9 v I gy, ol 5101 e
.z et V. et o

i R a1 Riedt 3 A 2l 3o gfore ©
[Question ID = 2440]{Question Description = S2_qSNz_PG_GP24_Q10]
1. A1 B-1L, C- 1, D - IV [Option ID = 757)

A e G0 optn 0 - 751

3 A-IV,8-1,C-1, D~ 1l Option 1D
LA s oo - e

Correct Answer :-
@ A-1,B-1,C- L, D- IV [Option ID = 9757]

6) If a researcher has to test a hypothesis whether the difference between the means of two groups are significant, s/he will use:

o = a g sz e &, i ?

[Question ID = 2441][Question Description = S2_qSNz_PG_GP24_Q11]
1. Chisquare test/ st !t [Option ID = 9761]

2. Correation coefficient/u i i [Option ID = 9767]

3. Sign-test/ R uln [Option ID = 9763]

4. Student’s ttest/ o é-asm [Option |

Correct A
@ Chisquare test/ s wl o [Option ID = 9761]

7) Which of the following are the stages of meta analysis?
A. Understand the literature

B. Conduct new studies to fill the gap

€. Develop inclusion and exclusion criteria of the study.

D. Locating primary studies

E. Identify secondary data

Choose the correct answer from the options given below:

RaeiRae 3 3 o 2 gl R (e Tomensfira) @ aan & :
A. e @ s

B. sier2 @t oo ot b R oA o sireon @

C. Puenfel b fore anandores sy swaerslo s Reofus o

D. g aearrt i e e

E. Byl w3t 6 g wm

R R 1 et 1 3 ) T g ©

[Question ID = 2442][Question Description = $2_qSNz_PG_GP24_Q12]

1. A, Band D only/ct A, B s D [Option ID = 9765]

4. 5.0 and Eonly/arer 8, D e E [Opt

Correct Answer
& ,B.and D only/sbuct 4, B 2 D [Option 1D = 9765]

8) Given below are two statements

Statement I: [ than
Statement Iz Parametric statistics are assumption free statistics

In light of the above statements, choose the correct answer from the options given below

ot & e foeame 3 ¢
e - | : arqrerer Hifkadt 6 geron A graa ket uftw oftend 2

e - 1 : g e afiogs aw e ok 2

s el & i ¥ oo Reee 3 3 18 w2 g ©

[Question ID = 2443][Question Description = 52_qSNz_PG_GP24_Q13]

1. Both Satement | and Statement f ae true/ e | s I 4 3  [Opton 1D = 9765]

2. Both Statement | and Statement I are flse/ st 1 G aw  Opton D = 9770]

3. Statement | true bt Statement I fase/ et | 3 3, P o 1 s | [Option D = 9771)
B

. Statement | s false but Statement I s true /et | xawa 2 , Ry wesa Il 2w 2 [Option ID = 5772]

Correct A
@ Both Statement | and Statement I ae true e | s 11 s 27w 2 [Opion 0 = 9769]

9) Which among the is commonly used i research?

fowaefian 31 3 R qomelt w1 s o oier 3 R e § 7

[Question D = 2444][Question Description = 52_qSNz_PG_GP24_Q14]

1. Survey method/astam et [Option 0 = 9773

2. Case study method /o axor e [Option 1D

3. Lfe oy metvod e (Ot 0 - 7]
thnographic method s g st [Option 1D = 9776]

Correct Answer :-
Survey method/ s s et [Option 1D = 9773]

10) Given below are two statements
Statement I: Exploratory studies mainly aim at developing hypotheses or questions for further research.
Statement Iiz The goal of formal study is to test the hypotheses or answer the questions posed.

In light of the above statements, choose the correct answer from the options given below

0 A e R v

apa: u @ a
et - 11 ST e O T RS T fvaT T ST g R G e o A &
e el o snete 3 iR el 3 3 ) o

[Question ID = 2445][Question Description = $2_qSNz_PG_GP24_Q15]

Both Statement | and Statement I ae true/ et | 8 11 s 2w 2 [Option 1D = 9777
Both Statement | and Statement Il are false/ ot | 2 Il Gl s 2 [Option 1D = 9778]
Statement |15 true but Statement I i false/ s | 371 2 , sy o Il a2 | [Option 1D
. Statement | s false but Statement Il s true /et | xawa 2 , ey wes 1l 2w

Correct Answer :-
« Both Statement | and Statement Il ae true /e | 8 11 i awa 2 [Option 1D = 9777

1) In communication, entropy refers to

i 3 ol (GEX) <t R e 2 2

{Question ID = 2446][Question Description = 52_qsNz_PG_GP24_Q16]

- Unpreditalemesage i o (s ) (Option =722
) i) [Option 1D
Oeterave speechs .o 0 (Ot 5764

!

Correct Answer :-
 predictable message/ yafaha a0 (3fsadact &) [Option D = 9781]

12) Keeping quiet because of fear of punishment in communication is an barrier.

i 3 5 b s A 2 o ___ e & 1
[Question 1D = 2447]1Question Description = $2_qSNz_PG_GP24.017]
1. Institutional/ et [Option

. Imeractnl e s (O 0.+ 5761

3. Incentive Qe [Option 1D = 9787)

4. Individual /i (Option 1D = 9788]

Correct A
@ Institutionalarze [Option ID = 9785]

13) A general code of conduct circulated among the employees of an institution is an example of:

il aiavenon 3 coatenfl @ R STl 6 S el T R g o v e &

[Queston 1 - 2448 Question Descrpton - S2_G5Ns_PG_GP24.Q18)
Downward communication /g [Option D = 9789]

;
3. Horizonal communication/wrkis g [Option D = 9791]
4. Upward communication/ iz e [Option D = 5792]

Correct Answer
« Downward communtcaton/ g s [Opton D = 9789)

14) What is a blog?
ecior a8 7

[Question ID = 2449][Question Description = S2_qSNz_PG_GP24_Q19]
1. Internet/ s [Option ID =
Search engine/ a5 [Option 0 = 9794]
in the form of & [Option 1D = 9795)
4. Online journal st e [Option ID = 979%]

Correct A
@ Intemet sz [Option ID = 9793]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Teachers should accept students as they are and with whatever cognitive level they have.
Reason R: Moralizing, being judgemental, exposing ignorance are barriers to successful communication.

In light of the above statements, choose the correct answer from the options given below

SR 2 e e T & ¢ @ e (A) 3 g @ s (R) wa o
i (A) : Rt @ i R & Rt o 520 3 3 TR @ St R & E e SN 0 S g T &

a5 (R) b, B (snicc) on s (o) o S @aon 2w 2 et 3 e &

& it 3w ot :
[Question ID = 2450][Question Description = S2_qSNz_PG_GP24_Q20]

1 BahmaRareumesndR s b o lartonaf A/ 8 ) e e ), 4 s Open 0 -77)

2. Both Aand R (0ption 1D = 9798]
5 et R bl A 1w 0 s oD+ 79

4. Ads false but R is true/ (A) e § wae (R) awa  [Option ID = 9800]




true and R At ), [Option 1D = 9797)

16) Which one of the following fractions is the largest?

Torotferfiae 31 3 whot vy st oot & 7
(Question 0= 24811 Queston Desrption = S2_65e_PG_6724.21

4. 67/80/67/80 [Option ID - 9804]

Correct Answer :
« 5/8/5/8 (Option I0 = 9801]

17) Find the next two terms in the series.
A D H, M,

Fraroiiaet 9 3 3P @ G S A

[Question ID = 2452][Question Description = 52_qSNz_PG_GP24_Q22]

1. X/Q, X [Option ID = 9805)
2. R, Y/R, Y [Option ID = 9806]
3.5, 2/5, Z [Option 1D = 9807]

T oo -0

Correct Answer :-
Q. X/Q, X [Option ID - 9805]

18) The ages of Swati and Manisha are in the ratio of

and the sum of their ages is 55 years. What will be the ratio of their ages after 5 years?

it el 1 531 526 vy & e il 61 o <hor 55 & e ad @ S g O T ST Qo 7
Lauestion 0 = unllquesuon Description = 52_qSNz_PG_GP24_Q23]

§

4. 5:6/5:6 [Option ID - 9812]

Correct Answer :-
 6:716:7 [Option ID = 9809]

19) Given below are two statements
Statement I: A vehicle’s speed of 30.6 km/hr is the same as 5.8 m/s.
Statement Ii: The speed of a bus is 72 km/hr. The distance covered by the bus in 10 seconds is 100 meter.

In light of the above statements, choose the correct answer from the options given below

) e R o E :
wero - | : o2l g ) nfr 30,6 Rl 5.8 e/ s b a2 &

et - 11 R s <t nfn 72 Rosteicr 2 e 10 s A 100 dtez 1 gt v el &
e et @ oncitas 3 iR Rl 3 2 ) @ g 2

[Question ID = 2454]{Question Description = 52_qSNz_PG_GP24_Q24]

Both Statement | and Statement I are true /e | 8 11 e awa 2 [Option 1D = 9813]

Both Statement | and Statement Il are false/ ot | s Il v s 3 [Option 1D = 9814]

. Statement | s true but Statement I s false/et | 3 2, Ry v 1 i 2 | [Option ID = 9815]
Statement i false but Statement I s true/ o | e 2, ey e Il 2w  [Option D = 9816]

Correct Answer :-
‘« Both Statement | and Statement I are true /o | 02 1 i 2w & [Option 1D = 9813]

20) The average of ten numbers is 11. If each number is multiplied by 7, then the average of the new set of numbers is:

112 o 7 e g :
[Question ID = 2455][Question Description = S2_qSNz_PG_GP24_Q25]
1. 70/70 (Opton D = 817
2./110/110 [Option 10 - 9818]
9]
4. 76176 [0pton 0 - 9820]

Correct
@ 70/70 [Option 0 = 9817]

21) Which of the following statements correctly apply to deductive arguments?
A. Deductive arguments are either valid or invalid

B. There must be a necessary relation between the premises and the conclusion
C. Adding new premises improves the validity

D. False premises may lead to a true conclusion

Choose the correct answer from the options given below:

e o  zies 3 P 3 3 w2 e il & 7
A. Bt s anea e waoa 63 % 7

8. oner araa ven forad @ dia v sidn v don aiy

C.ond e e Y ) 2 e 9 g Qe &

0. st sz s 1 208l e s v 3

s o ore et 3 2 e ¢

{Question ID = 2456][Question Description = 52_qsNz_PG_GP24_Q26]
1., B and C only/ahur A, B s C [Option 0 = 9521]

4. B, C and D only/abue , C sz D [Option ID = 9824]

Correct Answer :-
« ,B.and C only/abac A, 8 0z C [Option 1D = 9821]

22) Identify the fallacy committed in the argumer

Since no tragic actors are idiots and some comedians are not idiots, so some comedians are not tragic actors.

@ o qers b 3 i ;i e ol @0 8 v s e v o e

[Question 1D = 2457][Question Description = S2.qSNz..PG.GP24.Q27]
ey - 1D - 9825]
[Option 1D = 9826]

1
2

5 Eumontl Pty e topton 1 827
4. Fallacy of Exclusve Preises et e s v [Option 1D = 9826]
Correct Answer :-

o Fallacy of 10 = 9825

23)

1o one has been able to prove the existance of extrasensory perception. We must therefore conclude that extrasensory perception is a myth". Which of the following fallacies is committed in this argument?

" 1 el et e o et ol @3 B et 7 P Pt e R IR s o B B 1 s woean v g & 2
{auestion 0 - 2458JQuestion pesription - S2_5e_PG.6724.2)

i ity o s [Option ID = 9831]
i st o i 5 453

Correct Answer
@ Appea to ignorance/ s 3 e [Option ID = 9829]

24) Which one of the following statements is true with reference to Samanyatodrsta inference?

g sren @ e 3 Bt 3 A WA wee W & 7
[Question ID = 2459]{Question Description = 52_qSNz_PG_GP24_Q29]
1

[0ption 1D = 9833)

2 e ote e [Option 1D = 9834]
3. The middle term i related to the. [Option 1 = 9835]
£ The midele erm i eated o the major e bt Cose d a o143 01 e a1 e 0 14 v 3. [Opton 10 - 836)

Correct Answer :-
. s elated to the major

25) Given below are two statements
Statement I: According to Nyaya, universals are eternal entities which are distinct from, but inhere in many individuals
Statement Ii: The universal is the basis of the notion of sameness that we have with regard to all the individuals of a certain class

In light of the above statements, choose the correct answer from the options given below

A e R ar
o - 2 e b gy e e & & 7
et - 11 : “amaner s 2 o 3 a0 2

e el & e 3 B Raed 3 2 78 T2 g 1
[Question D = 2460][Question Description = 52_qsNz_PG_GP24_Q30]

1. Both Statement | and Statement I are true/eor | e I i ava # [Option 10 = 9837]

2. Both Statement | and Statement I are false/ et | 8z 1 i a3 [Option 1D = 9838

3. Statement i true but Statement I i folse/eor | e 2, R e I v 2 | [Option ID = 9839]
4. Statement i alse but Statement I s true/ weor | save 2., iy e I ava 2 [Opton 10 = 9840]
Correct Ans

« Both Statement | and Statement f ar true/ ot | 4 11 e v 3 [Option 1D = 9837]

26) Which one of the following is a type of malware embedded in a program on a computer that will set off a malicious function when certain conditions are met?

R ez o e A s W a ks a1 ?

[Qucsuon 1D = 2461][Question Description = S2_qSNz_PG_GP24_Q31]
ot 0pton 0 9841

z Tmyan/m[ﬂp 842

b (ot 0 843

o Lon ot o o 1 548

Correct Answer :-
« Worm/wi [Option I

841

27) Which memory is used as part of the processor?

o2 dnf) o son G2 o w3 b a3 R s 7

[Question ID = 2462][Question Description = S2_qSNz_PG_GP24_Q32]
1. RAN/ 2 [Option ID = 9845]
2. ROW/a [Option ID - 9846]
3. Registers/afiacs [Option
4. Hard disk/axsm (Option 1D = 9848]

Correct Answer
@ R/ [Option ID - 9845]

28) Given below are two statements
Statement I: The MAC address identifies which device is connected at a given IP address.
Statement Iiz MAC addresses are unique to each device

In light of the above statements, choose the correct answer from the options given below

i e (o <) i it 3 @ o fo o &
e - 1+ (@ 3h) e s e ) e e & R o s o <t w2 i (s o gon &
e 1 - A (o 30) 1 G < () @ v Al @ &

e el & e 3 Bt Rsedt 3 3 2l ez Gt 1

[Question ID = 2463][Question Description = 52_qSNz_PG_GP24_Q33]



Statement i true but Statement I i false/ s | 3w 2, sy o || a2 | [Opion
Statement i false but Statement I s true/ o | e 2, vy et Il 2w 2 [Option ID = 9852)

Correct Answer :-
@ Both Statement | and Statement Il are true /o | 8 11 it 3w 2 [Option 1D = 9849)

29) Following are some statements regarding most of the web browsers. Choose the correct statements.
A. They have a home page

B. They do not have the ability to store users’ favourite pages

C. They have hyperlinks to allow users to navigate

D. They do not keep a history of websites visited by the users

Choose the correct answer from the options given below:

aftwpior e e b it 3 AR T err R & 27 erlt @ Ao
A. o i o e 8
8. v g it @ zoge i B o e ol Al

[ * i a e
0. s e et i 2T e i WS g ot Qe

A e o Rl 3 08 3 <

[Question ID = 2464][Question Description = 52_qsNz_PG_GP24_Q34]
1. Aand C only/r A C [Option 1D = 9853]

2. A and B ony/act A B [Option D = 9854]

3. B.and D only/duct B itz D [Option D = 9855]

4. Aand D only/er A iz D [Option 1D = 9856]

Correct Answer :-
@ Aand C only/er Az  [Option 1D = 9853]

30) Match List | with List Il

st st
ype of memor, abrication method

. Dynamic Random Access Memory (DRAN) - Flip-flops

. Static Random Access Memory (SRAM) 1. Floating gate transistors and capacitor

. Programmable Read Only Memory (PROM) ransistors and capacitors
rasable Programmable Read Only Memory (EPROM)IV. Matrix of fuses
hoose the correct answer from the options given below:

a1 -1 B 2l -l A AR e

f 1 F 1
i @ oz hafacon_nch (@cbors ars)
A srronfin Yo cadva i ()| e - udia
B. e Yo et e () | e eyt s
€. Qalaee 15 shoer it (dia) . cifical ovs SaRie
D. sac QR A5 shate iy

V.
) R s wgdn

i e o2 Rl 31 34 2 e e :
[Question D = 2465][Question Description = 52_qsNz_PG_GP24_Q35]
A<, B -1, C- 1V, D~ I [Option D - 9857]

1
2

3. A<IV, 8L, C -1, D 1l [Option 1D = 9859]
4. A-lILB- 1V, C- 1, D - I [Option 1D = 9860]
Correct Answer :-

@ A-IB-1,C-1V, D -1 [Option ID - 9857)

31) Which one of the following Milleni s about ensuring

Frvaeiaet 31 3 ot RS R g wia s i i o o s i

466][Question Description = $2_qSNz_PG_GP24_Q36]
-1 [Option 0 - 9861

4. Goal- 7/ - 7 [Option ID = 9864]

Correct Answer :-
‘* Goal-1 /e - 1 [Option ID = 9861]

32) The air pollutant NOx is a combination of

g R s & 2

[Question ID = 2467][Question Description = $2_qSNz_PG_GP24_Q37]
1. u D= 9865]

s pt

2. Nitrous oxide and Nitric oxide sz ditass s s seans [Option ID - 9866]

3. Nitrogen dioxide and Nitric oxide/sesduan ssiatss 2 ot mass Option 1D = 9867]
I s, [Option 0 = 9868]

Correct Answer :-
. (Option 1D - 9865]

33) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Schistosomiasis is a polluted water borne disease

Reason R: is mainly due to the pr sulphate in water

In light of the above statements, choose the correct answer from the options given below

0 A orn o E o afroern (A) 2 g ) aa (R) e o
afiasear (A) : Rl SR s gt et 3o 301 3
s (R) : RrzfreRies dor g ol f icibe ) saflei & o den 3

& i 3z
[Question ID = 2468][Question Description = S2_qSNz_PG_GP24_Q38]
1. Both A and R are true and R i the correct explanation of A/(A) itz (R) a3 0 (R), (A) 8 2 emeen 3 [Option 1D = 9865]

3
z
:
:
H
il
“r
F
1
i
H
1
:
g

4. Als false but Ris truel () s & wasy R) a3 [Option 1D = 9872]

Correct Answer :-
R are true and R AVA) 2 (R) it 2 ) [Option 1D = 9869]

34) Article 48A of the Indian Constitution directs the states to ensure protection and improvement of

st @ faeor @ siqgedc 48 @ (48 A) 3 aell @ ____ on atagmn aen et afuan it b fere Rrdor Ren e &

[Question ID = 2469][Question Description = 2_qSNz_PG_GP24_Q39]
. Education/Bea [Option ID - 9873
2. Environment ik [Option D = 9874]

3. Businesses v [Option 10 = 975]

4. Mineral resources/ i i [Opion ID = 9876]

Correct Answer :-
 Education /i [Option 1D = 9873)

35) Which of the following states has maximum wind power potential in India as per MVRE's latest report?

o v, S, €. < v R 9 s Foafetiae 3 1 Ry 1 3 e 3 o e 6 st s & 7

{Question ID = 2470][Question Description = 52_qsNz_PG_GP24_Q40]
1. Rajasthan/arsaa (Option 10 - 9877]
87

9879
4. Gujaratapeas [Option ID - 9880]
Correct Answer :-

« Rajasthan/asszssa [Option 1D = 9877]

36) NSQF will be aligned with International Standard Classification of Occupations maintained by

o
[Question ID = 2471]{Question Description = S2_qSNz_PG_GP24_Q41]

@ aregtrn 3 szl cea s woffon e T A S 1

NQFVE/tit a1 1 ¢ [Option 1D = 9883]
- Minitry of Skl Development/as i g [Option ID = 9884]

Correct Answer :-
@ 1L/ 1.0 [Option 1D = 9881)

37) SARTHAQs
ek (21w o €1 o w ) 2 ¢

[Question D = 2472][Question Description = 52_qSNz_PG_GP24_Q42]
I of 10 - 9885
2. Implementation plan for NEP-2020/iz § - 2020 oy i e [Option ID = 9886]

3. India ppor

well 5 [Option D = 9857)

4 an [Option 1D - 9888]

Correct Answer :-
. of - 0= 9885)

38) Given below are two statements

Statement I: The National Knowledge Commission recommended opening 500 niversities to enable India to attain a Gross Enrolment Ratio of at least 20 % by 2015

Statement Ii: The need to establish an Independent Regulatory Authority for Hi fon (IRAHE) was by the National

In light of the above statements, choose the most appropriate answer from the options given below

Qe Ry o § ¢
ero - 2 areder e o 3t ek 2015 e e 3 e s svganes s A o 20% et b R i 500 Rrvemerer 3 sk 61 Rrwiker §1 &

et - 11 gt s o3 ren o z
e et @ ancitas 3 i Rl 3 ) 0 G
[Question ID = 2473]{Question Description = S2_qSNz_PG_GP24_Q43]

1. Both Statement | and Statement Il are correct/wea | s Il o 2 7 [Option ID = 9885]
2. Both Statement | and Statement Il are fncorrect/ e | s 1| 3 511 & [Option ID = 9890]

3. Statement | i correct 1wz, 1 [Option 1D = 9891]
4. Statement | i incorrect but Statement I s correct /i | a2, R e 1 2 2 [Option ID = 9892]

Correct Answer :-
« Both Statement | and Statement Il are correct /s | s 1| 3 3  [Option ID = 9889)

39) Which of the following statement(s) do NOT hold true with respect to the Vocational Education as per NPE-20207
A. B. Voc degrees introduced in 2013 will be discontinued

B. Lok Vidya courses wil replace existing vocational courses.

C. Focus areas for vocational education will be chosen on skills gap analysis without mapping local opportunities

D. National Committee for integration of Vocational Education will be constituted

E. Vocational education will be integrated into all schools and higher education institutions in a phased manner over the next decade

Choose the correct answer from the options given below:

ot ) ¢ 2020 o siqre e frem b e A Pt 3 A ator A ) okl & 7
A, 2013 31 o 1 318 i Pt o 2w ez e s

8. 5

C. el swarit 61 Afton R R wlorer arsrz s i e e < fore a5k i g s
D. i foren b arws deg v gl sior e R s

E. s o 3 i e aven sz Rign 2fzensil 3 g a8 2 cneanRie Rign WAk B e
i R are Rt 3 @ 22t e g ¢

[Question ID = 2474][Question Description = $2_qSNz_PG_GP24_Q44]



1. A, Band Conly/duer A, B 27 C [Option ID = 9893]
2.6, C and D only/abacr 8, € 1 0 [Option 1D

3./C. Dand E only/sbw C, D e € [Option ID
4 A,C.and D only/ 1 A, C 2D [Option D = 989]

Correct Answer :-
« ,Band C only/bac A, B 81 [Option 1D = 9893]

40) Match List | with List Il

istl st
. Taxila . Tantrik teaching
Ujjain 1. Dvaita school of thought

- Vikramshila {Il. Medicine

3 Astronomy
hoose the correct answer from the options given below:

a1 -1 B 2l -l A AR e

e a1
. anfbren . aifgw Rz
. asitor 1. Tt ficor
. Rt . e

. s V. woier ot
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{Question ID = 2475](Question Description = 52_qsNz_PG_GP24_Q45]

1. A-1,B-1V, C -1, D- 1| [Option 0 = 5897]
2. A<, Bl C IV, D - I [Option 1D = 9898]

Correct Answer :-
@ A-1,B-IV, C- 1l D I [Option ID - 9897)

Topic:- GP_26NOV_SH2_C

1) Read the passage carefully and answer the questions that follows.

Assessment is central to almost allforms of education around the world, and in recent years, a wider variety of assessment has tended to be used. One such form of this change s the use of peer and self-assessment. Self-assessment can be defined as "the ability to critcally assess one's own work” (Brew, 1999) and peer assessment as "making judgmenb about, or :0mmeﬂ!mg
upon, each other's work”. As with all assessment methods, both have their own strengths and weaknesses. It can be argued that peer and self-assessment with careful initiation and moderation are effective methods of assessment. However, this brief note will argue that in the high settings, he
making is unreliable.

Peer and self-assessment have become increasingly common as methods of assessment. particularly in further and higher education. They are used as methods to reduce the marking loads of teachers and it is claimed, to enhance group work and the critical thinking skills of students. It is also claimed that if marking criteria are discussed and agreed at the start, students’
‘marking does not differ significantly from teachers. In studies where the assessment of different teachers is compared, and also in studies where teacher's and peer’s and or self-assessments are compared, it has generally been found that, provided criteria are discussed and agreed in advance, marks tend to be similar. Thus, it could be argued that with the right initial training,
there is no difference between work being marked by a teacher o a student.

SR R reton Y W o it o e A

e 32 3 e 2 e B Prga 3 eiaron o i eyl eror 8, aen g b al i v I AU GO G P D U T 6 Gl 2T Y Bl § i o o ufalde G § 5 T Y ae Ta-geicn o e e e o 7 g R R s A 8, " o & e g (g, 1999) aen s g geaios o, "o g b orl o ge amm, Se 2 Rai
o b pu l ufsnft & "o 6 Wi getivn ol & an i g , g doll ol sl oro ot aen IR § w2 5 wa s R manmyde g e Briqu d e -0 e e a-geaioor, Jeicon 6 qud g § g g AR Ruv 3 @ o e o & R sitrwis M R i of A e s 3 ool A E, 0 i A g s ufl § i s (o 30
@ e Rt ol &

- FEAT T T ten 3t 9 ks a#E 18 # E, T o & b d afs @ o k3 a3 @ g , R aierz wf

R ——— 2 wa w, a2 ai ! d 3 E # i Tt s gon w wa 3 it e e E s ol e

What is the focus of this text?

@ s

[Question 0 - 2476][Question Descripton =52 GENs_PG_GP24.Q46)

1. Peer assesmen

3 Leeeomer ot Eemtion st o0 = 5502

3. Assessment n general/ st s [Option D = 9903]

4. Peer and Self-assessment /2w 2w areon en 2 grriwen [Option 1D = 9904)

Correct Answer i+

« Peer assessment 5 g s [Option 1D = 9901]

2) Study the given table carefully and answer the questions that follow

The following table has semester fees for four different courses in 5 different years
Year BCA McA MTech MPhil
201 25000 52000 60200 30000
201 26500 53500 61400 32000
201 27200 54200 62500 32600
201 27600 55700 62900 33400
202 26000 56800 63700 33900

SR R reton Y g o gt e A
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(Question - 24771 Question Descrption - 2652 PO_6724.047)
Abitty i
2 Exvncementof s wonk o e ik of odee Bt vt e R i 3 (Ot I 501
5. Promotes o asessment e st s o s 245 0ption 1o - 907]
h o [Option 0 - 9908]
Correct Answer i+
o ity (Option 0 - 9905]
3) Study the given table carefully and answer the questions that follow
The following table has semester fees for four different courses in 5 different years
Years BCA WCA WTech WPl
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900
03 R areon @ e gl b SR A ¢
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What argument the author desires to make?

Qs e v o e & 2
[Question ID = 2478][Question Description = S2_qSNz_PG_GP24_Q48]

[0ption 1D = 9909)
1 Aﬂes:menllx(ennalluedu(atmn/mllﬂwm i [Option 1D = 9910]

a [0ption 1D = 9911)
e eesmen oo i Wapor oot o et st 3 i oo 1592
Correct Answer :-

4) Read the passage carefully and answer the questions that follows

Assessment is central to almost al forms of education around the world, and in recent years, a wider varity of assessment has tended to be used. One such form of this change isthe use of peer and sef-assessment. Sel-assessment can be defined as ‘the abilty to critially assess ane's own work” (Brew, 1999) and peer assessment as “making judgmams about, or mmmmt(ng
upon, each oth jith all assessment methods, both have their own strengths and weaknesses. It can be argued that peer and self-assessment with careful initiation and moderation are effective methods of assessment. However, this brief note will argue that in the high setting
making is unreliable.

Peer and self-assessment have become increasingly common as methods of assessment. particularly in further and higher education. They are used as methods to reduce the marking loads of teachers and it is claimed, to enhance group work and the critical thinking skills of students. It is also claimed that if marking criteria are discussed and agreed at the start, students'
‘marking does not differ significantly from teachers. In studies where the assessment of different teachers is compared, and also in studies where teachers and peer’s and or self-assessments are compared, it has generally been found that, provided criteria are discussed and agreed in advance, marks tend to be similar. Thus, it could be argued that with the right initial training,
there is no difference between work being marked by a teacher o a student.

a0 o arron a1 e et b o A ¢
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Which one of the following captures the meaning of "Assessment is central to almost all forms of education’

ot 1 1 @21 e et comen R G $) Rign o1 B B T B vl o Gy w3 7
[Question ID = 2479][Question Description = 52_qSNz_PG_GP24_Q49]

. 1o education in all [0ption 1D = 9913]

. Asemen s atucton n o o 8 o 2 [0t 1D = 9914

3 is [0ption 1D = 9915]
4 el a2 2 [Option |

Correct Answer :-
@ Assessment s pivotal to education in al forms oy 20f s 8 e 157 2 [Option 1D = 9913]

5) Read the passage carefully and answer the questions that follows.

Assessment s central o amost al forms of education around the world, and in recent:years, 2 wider variety of assessment has tended to be used. One such form of this change s the use of peer and sef-assessment. Self-assessment can be defined a the ablity o critcll asses ane's own work” (Brew, 1999) and peer assesament as “making judgments abou, or commenting
upon, each other's work”. As with all assessment methods, both have their own strengths and weaknesses. It can be argued that peer and self-assessment with careful initiation and moderation are effective methods of assessment. However, this brief note will argue that in the high stak settings, are as the
making is unreliable.

Peer and self-assessment have become m(reasmgly common as methods of assessment. particularly in further and higher education. They are used as methods to reduce the marking loads of teachers and it is claimed, to enhance group work and the critical thinking skills of students. It
‘marking does not differ the
there 14 no diference between work b;mg marked bvy a teacher or a student.

s also claimed that if marking criteria are discussed and agreed at the start, students’
is compared, and also in studies where teacher's and peer's and or self-assessments are compared, it has generally been found that, provided criteria are discussed and agreed in advance, marks tend to be similar. Thus, it could be argued that with the right initial training,
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“Students marking does not differ significantly from teachers", means:

“Roet era Rl i et A sen (s 33 61 Rgafn) 3 Rd e il e * 2w el & 1
[Question ID = 2480][Question Description = S2_qSNz_PG_GP24_Q50]

4. Marks may or may not differ/ i e 25 § wem il & 23 3 [Option ID = 9920]

Correct Answer :-
« Marks that h s a0 2 (Option 1D = 9917]






